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t. Find all the critical points of f{x) = 3x% « 8x% » Bx2 & X, (10}
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2. Find the (zbsolute) maximum and r%ﬁ?nmum values of the Tunction
el = wd - 6%+ 1 for -1 £ % < 2, Justify, {(10) 2
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3. The surface area of 2 sphere {5 glven by A = 470% If the radius of 2 balloon
is increasing st the rate of 2 in. per second when the radius is 3 in., how fast
is the surface area changing? (103
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4. Find the derivative dy/dx when %y « xy? + 42 = (10}
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6. Draw the graph of & function for which f{0) = 0, ©'{x) » D for all x, ang
f'{x}<Cfor x> 0and 1{(x)» 0 for ¥ < 0. {5
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7. Find the equation of the siraight line which is tangent to the curve
x siny = 2 at the point (2,71/2). {10}
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A rectangular pen is to be built $o that one side {s against 4 building (so ro
fencing is needed there} and one side will have a 10 foot gate. There is
150 feet of fencing available. What are the dimensions of the largest pen that
can be built? (10)
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. Skelch the graph of

xy 2
r(X) = 18x . b ‘ "
{x-2)* g
Give x-y coordinates of critical gﬁeint& and equations of asymptotes (if any). /»‘w)
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